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Zahl geht max. bis 100.

T88 = { 1, 2, 4, 8, 11, 22, 44, 88 }
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T91 = { 1, 7, 13, 91 }
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T4 = { 1, 2, 4 }
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T30 = { 1, 2, 3, 5, 6, 10, 15, 30 }
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T19 = { 1, 19 }
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T46 = { 1, 2, 23, 46 }
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T81 = { 1, 3, 9, 27, 81 }
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T65 = { 1, 5, 13, 65 }
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T86 = { 1, 2, 43, 86 }
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T57 = { 1, 3, 19, 57 }
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T82 = { 1, 2, 41, 82 }
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T43 = { 1, 43 }
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T97 = { 1, 97 }
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T83 = { 1, 83 }
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T40 = { 1, 2, 4, 5, 8, 10, 20, 40 }
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T32 = { 1, 2, 4, 8, 16, 32 }
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T58 = { 1, 2, 29, 58 }
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T29 = { 1, 29 }
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T59 = { 1, 59 }
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T70 = { 1, 2, 5, 7, 10, 14, 35, 70 }
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T23 = { 1, 23 }

6
—
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T52 = { 1, 2, 4, 13, 26, 52 }
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—
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